Student Progress Chart
World Geography (Part A) – (GEOG 505)
Name:        
I.D. #        
Grade:    
Pd:   
STARS Teacher:                    
Campus:         
Date Started:       
Comments:              

	Module 1: Thinking Geographically
	
	Module 5: Human Geography of the U.S. and Canada

	1.1
	1.2
	1.3
	
	
	
	
	P.T.-1
	TEST
	Date
	
	5.1
	5.2
	5.3
	5.4
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	Date

	   
	   
	   
	
	
	
	
	   
	   
	     
	
	   
	   
	   
	   
	   
	   
	
	   
	   
	     

	
	
	
	
	
	
	
	
	
	
	
	

	Module 2: Physical Geography
	
	Module 6: Physical and Human Geography of Latin America

	2.1
	2.2
	2.3
	2.4
	2.5
	2.6
	
	P.T.-2
	TEST
	Date
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	6.3
	6.4
	6.5
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	Module 3: Human Geography
	
	Module 7: Physical and Human Geography of Europe

	3.1
	3.2
	3.3
	3.4
	3.5
	
	
	P.T.-3
	TEST
	Date
	
	7.1
	7.2
	7.3
	7.4
	7.5
	7.6
	
	P.T.-7
	TEST
	Date

	   
	   
	   
	   
	   
	
	
	   
	   
	     
	
	   
	   
	   
	   
	   
	   
	
	   
	   
	     

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Module 4: Physical Geography and Current Issues Facing the U.S. and Canada
	
	Module 8: Physical and Human Geography of Russia and the Former Soviet Republics

	4.1
	4.2
	4.3
	4.4
	4.5
	
	
	P.T.-4
	TEST
	Date
	
	8.1
	8.2
	8.3
	8.4
	8.5
	8.6
	
	P.T.-8
	TEST
	Date

	   
	   
	   
	   
	   
	
	
	   
	   
	     
	
	   
	   
	   
	   
	   
	   
	
	   
	   
	     

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	Mid-Term
	Grade
	Date

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	   
	     


	Date:       
	AVERAGE:
	   

	COURSE STATUS
	Teacher’s Signature:

	 FORMCHECKBOX 
   INCOMPLETE

ProgRep Submitted:      
	 FORMCHECKBOX 
   COMPLETE
	 FORMCHECKBOX 
  CCF Submitted

Date:       
	

	SIX-WEEKS GRADES
	USE THESE SIX-WKS GRADES IF THE STUDENT WILL BE CONTINUING THE COURSE IN A REGULAR CLASS.

	1st Six-Weeks =       
	2nd Six-Weeks =      
	3rd Six-Weeks =      








